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Survey the text

Look at: the title

section headings and special print
llustrations, graphs and tables.

Build up an idea of what the text as a whole is about.

Then look at each paragraph. There is often one sentence which will summarise what the -
paragraph is about. This sentence is often the first o last sentence in the paragraph, b

Do not take more than 2 minutes.

Exercise 1

Survey the following passage and answer the questions which follow:
Time: 2 minutes

Hidden history; the beetle's secret cycle of life

The f.:leathwatch beetle is thought of as the devil's pest in churches and old houses
put in natural habitats it infests a wide range of decaying hardwoods. It has been ft;und
in hornbeam, sweet chestnut, hawthorn, beech, ash, black poplar, elm, larch spruce and
yew, t_Jut the two most commonly infested species in Britain are oak and wﬂh;w In
buildings, oak timbers are usually the focus of attack by the beetle, but aider, v;'afnur
elm, larch and Scots pine can be affected too. Deathwatch beeﬂes'artack wéod rhat'has
bee.? decayed by fungi, so it is the damp-prone parts of timbers, at the ends and near
leaking gutters and enclosed spaces, that are normally attacked first.

Adult beetles emerge from holes in the timber i i 1 i
er in spring, or occasionally in autumn.
ThE);! breed once and a week or two later the females lay eqgs, usually about fifty, in
?mz cracks on thg surracg of the wood. Adults depend on stored reserves; they do not
‘eed, so the adult lifespan is largely determined by body size and metabolic demands.

Emergent females rarely live for more th
an ten weeks, i /
at a temperature of about 20° C. Fendmelesagtor e eEs

The eggs hatch after two to five weeks and the Jarvae then wander across the wood

to find suitable entry points through which to bore | i
e into the timber. Then they take
between two and ten years to complete their development. The larvae pupajfte in late

Egg
0.6-0.7mm
Adult Full grown
5-Tmm larva 11mm
Pupa

S g

0

—_
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summer: and emerges ¢@

individual having constructed a pupal cell just below the
s eﬁg ;r; three weeks, the immature beetle emerges _from the
the woo™ ) s torpid inside the chamber until the following spring or ea(ly
ut thef ’2’2:;;:3 then cuts a perfectly round hole, three to five millimetres in
e mature

vered in a fine ayer of wood powder.

djameter.
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piscussion

gives you muc
answer quest

exercise practised surv
text no matter what the' qu
ask you to find the maini
at the title, etc., as you dowl
what the question requires. In general you cannot answ
you know what sort of answer |

jons 1-4

whatis the subj
which paragraP
which paragraP

which paragrap
t the answe

ect of the passage as awhole?

h contains information about the larvae?

h contains information about the adult beetles?

h contains information about where the beetles live?

K r key and goonto the discussion section below.
Now look 2

i i f the information
i +le and the illustration you have most 0 )
hoyt Wit - 1212322 many words you do not know in this passage l_:u_t the title
pic was the life cycle of something. Figure 1 shows you what it is and

h of the key information.

Looking at the first sentence of each paragraph gives you enough information to
00

ions 2—4 above. .
ot need to read every word and you did not need to know every word. This

i _which is something you should do with every
eﬁlggtit::st:ﬁ. Tl::s is amajor reading skill. Some [ELTS questhns
deas in a text. For this you go through the prqcess of |0_D|.(Il'lg
hen you survey the text. You have to r(_acognlse that this is
er a question properly unless
s needed and how to find it. This takes us to the next

You did n

main process you go through after surveying the text:

Analyse the questions

Ask yourself ‘What is the purpose of this question? If you can recogﬂm
about the general theme of the passage, then you already know how e
If the question is asking for specific information, make sure you are clear wmtthlt )

(isit a number? a period of time? an activity? etc).

Analysing the question has another meaning too. It means read it
answer should be in (ane word? three words?a rumbem. s

Exercise 1 consists of the simplest kind of question type: open questions. You

n
must answer in a specified number of words — usually no more than thrj:'r:::swers
hDW_"-'VEf- only one or two are needed. Questions 2-4 can all have one-
or simply a number.

tailed
Now you have surveyed the text you are better prepared to look for more de

Information. Go on to the next exercise.

Reading 1
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12 Howto Prepare for IELTS

AT I -

Answer the following questions on the passage Hidden history: the beetjgrg o
cycle of life.

Time: 5 minutes

Questions 5-10

hoosing a maximum of three worg
Complete the summary below by cl 3
passags to fill the spaces 5-10. Write your answers on the answer sheet.

Summary

The deathwatch beetle is found most oftenin .. 5 ..and .. 6 .. They infest damp-prat
timber which has been affected ... 7 ... Adults do not feed, so they_survivs on..g
live for only two or three months. The larvae, on the ot_her hand, live for Upto,.g :
feeding on the timbers during that time. They pupate in ... 10 ... but the ady doesr

emerge until the following spring.

Now look at the answer key and go on to the discussion section below.
Discussion

Most of the questions in the reading test ask you to find specific information, Tha} )
way to prepare yourself for this is by going through the first two processes properiy;
e survey the text

e analyse the question.

For example, because you have surveyed the text you should know exactly whi ch

h question. This saves a ot of time. Also!
you can often see what sort of information to look for 1t
answer to question 9 must be a period of time.
So the first two processes are v
the questions. Then:

paragraphs to look at for the answers to eac
from analysing the questions
is clear, for example, that the

ery important: you survey the text and you r

warry if you do not understand everything. RemembEr
rabout what information you need to find and just Io
'this quickly. -

N i

Exercise 2 is an example of a typi i
‘ : ical gap-fi i several
important points to note: P R

the passage in the exercise j ill fi

S a summary of th i sage, so youw!
many changes from the original Mikeading possag y ;
[ ]

:‘éf:t';!;(r’ll;::?t?‘;;ecialisted Words in the reading passage (e.g. ‘pupate’) yOl;“:i"
: Questions (e, i : ; ; tion,
152 85t of your inderstancing s e o 0 5 Stated in the introduc

th : ng and use of English, not your specialised knowledg=
yoLL ?ll;?rsetlt(:)nrzt::iz ’il;lat YOU Must use a maximum of three words — thel'Eff":z %
important worgs - Xt tO aNSWer question 10, You should keep onlY t =

the question States

o yol
OWn words, the words must come from the passage - you cannot US y

hat you have done s0. This brings us to the final process in doing the reading
1o check tha

o points show how impertant it is to read the instructions carefully and
The last tW

test:

i i i to do for
ajor skills you need to know and th_e things you need
These arei:;‘tt:‘: t:ejfonowing exercises you will practise these skills and processes
e rfhaec:-":gadiné passages, and you will also meet some ather types of question.
ono

Exercise 3 )
Read the passage below and answer questions 11-15 which follow.

Time: 5 minutes

How the brain reorganises itself
Paragraph 1

The work that Tim Pons and his colleagues pub{ishgd last ufee‘ek is basi.c research into
the portion of the brain, the cortex, that one scientist says is responstplg for all thr:_'
interesting things we do’. The cortex is a layer between tn(o and five m{mmetres thick
that covers the brain and each area of the cortex has a different funcm_n. The area
Pons and his colleagues are interested in receives 'somatic’ sensation, in other words,
information about touch, position, heat, cold and pain. The somatic sensory cortex can

be represented as a topographic map, sub-divided into specific regions that receive
nerve signals from specific areas of the body.

Paragraph 2

About twelve years before Pons and his colleagues carried out their experiments,

the Macague monkeys being studied had the nerves cut which carried signals frqm
the fingers, palm, upper limb, neck and the back of the head. The regions bordering
this part of the so

matic sensory cortex receive signals from the face and trunk."
Paragraph 3

Under anaesthetic, Pons and his colleagues inserted electrodes into the region of the

cortex where the nerves had been cut and recorded the neuronal response. They
found to th,

eir surprise that the whole region, covering an area of between ten anq'
f°‘_‘”e9n Square millimetres, now responded to stimulation of the lower face. Previously,
o ot had thought that the cortex of adult animals could not reorganise itself over
an area greater than one or two millimetres.

"frunk = he

) mail
neurong) = N part of the body

areas of the nerves

Reading
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Questions 11-13

Match one of the headings from the box to
_ each of the paragr. i
passage. Write the corresponding letter (A-F) in spaces 11 -193?: ;:)n e readin
Note that there are mare headings than paragraphs so you will not ul;:;aa“s“;er
of thems

Headings
A Macaque monkeys

B Method of resear:
C  Electrical stimulation -

D The effects of heat

E  Cortex reorganisation F  The area of research

1 Paragraph 1

12 Paragraph 2

13 Paragraph 3

Questions 14-15
14 According to the passage, whi
, which four of the se i : i
exordog b nses listed below are ‘somatic’
A tast
. a - e B touch C  temperature
pain E position F  emotion
G smell H  sound |

vision
Write the four appropriate letters (from A-l) on your answer sheet

15 Which part of the brain receives signals from different parts of the body?
Write no more than three words from the passage.

Now look at the answer key and go on to the discussion section below.

Discussion

Did you:

e surveythetext

e analyse the questions to see exactly what they are asking for
e read theinstructions carefully

e notice which questions were about general themes and which were aski
specific information asking for

e know where to look for specific information and what sort of information
required L
go back to the textl0oking quickly for the information you neeq

remember not to try and read every word

T -

estion if you could not answer one
o moveon to the nextqu y

leave enough time to check your answers and to check that you followed the
instructions exactly.
Use this checklist for the next exercise you do.

Questions 11-13 are typical of the matching exercises you find in IELTS. In this case
st identify the main theme of each paragraph or section. So these questions were
o rnuhe eneral themes of the passage. It is not enough if a subject is mentioned; it

i tbe tghe dominant theme or idea. Paragraph 1 mentions heat, for example, but it

- t? about heat. paragraph 2 talks about an experiment on Macaque monkeys but it

:: Egt about Macague monkeys in general. The main point of paragraph 3 comes in the

ast rather than the first sentence.

Question 14 is atype of multiple-choice question: you have to_ choose the correct
answers froma list. It is also a question where you myst find spec:ﬂg information in
the relevant paragraph. Notice that the actual text will not necessarily use exactly the
same words as the question (temperature’is nota word in that paragraph). tis the
information you have to look for, not the words.

Question 15 seems very simple. But the important thing is to read the question
very carefully; you must not use more than three words, and they must be from
the passage.

Once again, do not worry about specialised vocabulary or knowledge: you may
find a glossary of definitions of specialised vocabulary (“'trunk, 2neuronal’); you can
answer question 15 correctly without any previous knowledge of areas of the brain
or their function.

Exercise 4

This reading passage contains some very long, complex sentences (more complex,
in fact, than you are likely to find in the IELTS test). Don't panic. Use your checklist.
Concentrate on identifying the key phrases and ideas.

Answer the questions below by reading the passage.
Time: 10 minutes

Social and cuttural impacts of tourism in Cyprus

I s

Sefzg;:i'gh:;g‘ fzhty forms an integral part of the culture, and the people have a

ideologies ang t; ’e towards foreigners. Furthermore, the society’s culture emphasises

As the tourist po?i “efS.Vstems which attach great importance to individual achievement.

Organization e gy oﬂowe_d by the Cyprus Government and the Cyprus Tourism

come mainjy from :_e"’ to aim at the middle and high income groups, and the tourists

Values ang attitude s tc,‘“" sm 'has not had as marked an adverse effect on the

areas, such ag .txyiaf‘\.'mr Cypriot society as may otherwise have been the case. In certain
ocial behaviour andapa..howeven the influx of large numbers of tourists has influenced

Suggests that. social values, and caused a certain amount of antagonism. Bryden

there ma
y be i ;
Of touriste o 2 Tclationship between tourism density, expressed in the annual numbers

Ourists, .. Th: ,f,',:gp"”"’” of the population ... and the growth of resentment towards
Confrontat rence here is that tourism density is an indicator of the degree of

C ion b i |
Gives riga ih etween tourists and indigenous population and that i
€ resentment of tourists.
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16 How to prepare for IELTS

Table 1 Contact ratio values, 1985

Contact ratio
A 3
rea Annual average Peak day value 8
Limassol 19.5 17_3
Larnaca 24.4 39
Ayia Napa/Paralimni 30 15
Paphos 177 10.8
Hill resorts 430 16.6
Total 18.0 9.5

The concept of ‘tourism density'is thus used as a measure of 'social carrying capas
which Mathieson and Wall define as ‘host peoples’ levels of tolerance for the prege
and behaviour of tourists’ An alternative measure used by Andronikou is the ‘con
ratio’, which is the inverse of tourism density, that is the ratio of the local populati
tourist population. Now, whereas Andronikou suggests that the minimum value tha
contact ratio can fall to before the social impact resulting from tourist developme
becomes detrimental is about eight, most authors now do not believe that a single s
value can be given for social carrying capacity. Mathieson and Wall point out that:

Carrying capacity remains an elusive concept, but the time when researchers and

managers sought one mythical magic number, which could be approached with safe
but exceeded at peril, has passed. £

Nevertheless, inspection of table 1 does suggest that it is highly likely that the social
carrying capacity in Ayia Napa has been overreached. The extreme concentration of.
tourists here has resulted in a modification of social attitudes among young people,
especially towards sexual behaviour. This is part of the ‘demonstration effect’ which
introduces foreign ideologies and ways of life into societies that have not been expo
to tourist lifestyles. The close and continued contact of Cypriot youth with young foreigs
tourists has resulted in them adopting different sets of values on morality, styleof
dressing, and so on, in comparison with prevailing traditional attitudes, and as a result
the bonds of closely knit families are in some cases being loosened. :

Questions 16-18

Read the following statements and say how they reflect the information in the reading
passage, by writing:

T if it is true according to the passage
F if itis false according to the passage
NG  if the information is not given in the passage.

Write your answers in boxes 16-18 on your answer sheet.

Example Answer

Cypriots are welcoming T

16 Individual achievement is more important than hospitality.
17 Tourists come mainly from the UK.

18 Cypriot society has not been adversely affected by tourism.

Questions 19-21 _ _ ‘

n the two lists below, 8 definition in the list on the right (A-G) matches one item
in the list on the left (19-21). Show which items match by writing one appropriate letter
l&.@) in boxes 19-21 on your answer sheet. :

Example Answer
‘tourism density’ D
19 ‘social carrying capacity’ A ratio of locals to tourists
20 ‘contact ratio’ B introduction of foreign values
to tourists
21 the ‘demonstration effect C  host's tolerance towards
tourists
D  proportion of tourists to locals
approximately eight
introduction of new lifestyles
into societies
G different sets of values
Discussion

Questions 16-18 are typical of the true/false type of questions that you may find

in [ELTS. Make sure you read carefully enough to answer the question accurately
and make sure you answer according to the information in the passage. Both
‘individual achievement' and ‘hospitality’ are mentioned in the opening paragraph;

it does not state which is more important. You may know that most tourists in Cyprus
come from the UK; the passage states ‘Europe’ only. For question 18, the passage
states 'tourism has not had as marked an adverse effect .... You may not know the

meaning of ‘as marked ...’; the writer goes on to say, however, *... has influenced social
--and caused ... antagonism’.

Questions 19-21 are another type of matching exercise. In this case, you must
match_terms used in the text with possible definitions of those terms as used in the
text. Find ‘social carrying capacity’ in the text and the definition follows: ‘host peoples’
levels of tolerance for the presence and behaviour of tourists’.

_Having found the definition of ‘demonstration effect’, you are wasting precious
time if you t

h ry to understan : to read
tcarefully, d the very long final sentence; you do not need
Exercise 5

Sometimes the
to

uestions com i 5 kes no difference
the things yoq come before the reading passage. It ma

u should do. Continue what you have been practising:
® surveythe text

L]
then analyse the questions
* thenretymn tothe text,

In .
the next Exercise some questions come before the passage and some come after it.

Reading
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Answer the questions below by reading the passage Hi-tech connections, &

Time: 7 minutes

Questions 22-23

Write the appropriate letters A-D in boxes 22 and 23 on your answer sheet.

22 Paragraph Aisan introduction to ...

A management vocabulary
C high-technologycommunications

B computers
world markets

23 The purpose of paragraph C isto..
A describe telephone networks
C give afurther example

B illustrate with an example
D introduce anew idea

Question 24
Complete the sentence below using a maximum of four words.

24 Rapid developments in advanced communications have resulted from...

Hi-tech connections
Paragraph A

Over the past fifteen years, information technology (IT) has become an essential
part of the managerial vocabulary for a great many businesses. Today, however, =
telecommuni-cations is rapidly becoming as important as the computer industry. This
can be attributed to the liberalisation of world markets, which has created an explosiof
in the development and availability of advanced communications services. '
Paragraph B
In many instances, communications systems are being used to enable companies to"
implement new strategies. One such strategy is the move towards more globalised %
business. Obviously, setting up an office overseas is not simply a matter of identifying
potential markets. Logistics, such as establishing links for the vital flows of informatiofl
between a company’s head office and its overseas subsidiaries and suppliers, are
equally important. Not surprisingly, sophisticated communications systems play a
fundamental role in connecting business operations.

Paragraph C

One such system is the Integrated Services Digital Network (ISDN), which enables =
companies to send and receive high speed data, fax transmissions and ordinary vo!
calls, as well as images for video-conferences, over international digital telephoné
networks. The network aiso enables businesses to offer their services ona wor ’d“f"da ;
scale. One such offering is the new International Dealerlink. This is a voice-onl; PrVeES
circuit service jointly offered by BT and France Telecom. It can meet the special _‘
communications needs of the finance community by providing a fast and cost-effectm ;
link between the two financial centres. The service also opened between the
The Netherlands at the end of January.

ns 25-26
e information in the passage, answer the questions below using figuresora |

ing th :
l,:z:ﬁnum of three words. Write your answers on your answer sheet.

25 What does ‘such’ refer toin the first sentence of paragraph C?

Questio

26 How many countries have access to the International Dealerlink?
Now look at the answer key and go on to the discussion section below.

piscussion

ifyou analysed the questions properly you will have seen that ques_tions 22-24 focus
onthe general themes of the passage and paragraphs in it. Questions 22 and 23
deal with the topic and purpose of paragraphs. Question 24 took you further into
the relationships within a paragraph. Questions 25 and 26 are both open questions
requiring you to find specific |n‘format|on Question 25 refers to relationships
petween paragraphs. For question 26 all you need to do is write down a number.

Questions 22-24 are examples of sentence completion questions: you have to
complete sentences which are started for you. Pay special attention to the instructions.
Questions 22 and 23 are both multiple-choice types of sentence completion: you are
asked to choose the right phrase and put the corresponding letter on your answer
sheet (you do not write out the phrase). Question 24 asks you to write the phrase
which completes the sentence (you do not write the whole sentence); in fact the
instructions state ‘a maximum of four words’and writing the whole sentence would

be marked as wrong.

Exercise 6

Sometimes graphs, charts, diagrams or tables will accompany the reading passage.
Like figure 1 in the first exercise and table 1 in exercise 4, these can give you
important helpful information about the text. The next reading passage provides
another example.

Read the passage below and answer the questions.

Time: 12 minutes

Perchance to dream

In 1952 the neurophysiologist Nathaniel Kleitman and one of his students, Eugene
Aserinsky, studied the rolling movements of the eyes which occur early in sleep. They
attached electrodes which responded to eye movements to the temples of volunteers
who came to sleep in their laboratory. As the volunteers began to fall asleep, the
elec_trodes detected the slow rolling eye movements which could be seen easily through
rhgfr eyelids. Soon after, the volunteers fell deeper into sleep and their eyes became
?!t]u!!. An hour or so later, to the great surprise of Aserinsky, the pen recorders showed
- a?rt the eyes were moving again. This time they were not just swinging from side to side
for were darting back and forth (see figure 2). These rapid eye movements continued
Some time and then the eyes came to rest again.

I'Ep]:;i:e pha*? ofr anq' eye movement (R.E.M.) occur every ninety minutes or so and

B 1o ,”t a distinct and important stage of sieep. The huge slow waves of normal sleep

wakinp arc ed by a higher frequency pattern closer to the brainwaves of the normal

even g’s ate. In this state of ‘paradoxical sleep; it is more difficult to wake the sleeper

cutoff f‘r)ugh the brain is active. Indeed, most of the musclgs of the body are par

in the bro_m the restless activity of the brain by inhibitory signals from tiny region ardv:ep
€ oce, 2 nstam, ,The only responses to the brain activity are the eye movements

asional twitching of fingers or the grinding of teeth.

Reading
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